By =0 =0 = G

OTnesn MHOTOYWIEHOB

Nwms:

54x% — 6x — 28
Ox—17

48x3 — 622 + 61x— 63
6x— 17

54x2 — 45x— 54
9%+ 6

48x3 + 72x° — 24x
&x

2x3 — 332 —57x+ 18
Tx—2

[ara:

48x3 + 32x% — 24x
8x

83 + 362 — 24x
4x

32x2 + 24x— 8§
4x + 4

24x3 — 882 +91x— 72
3x— &

64x° — 1622 + 8x
&x
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Orenka:
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By =0 =0 = G

OTnesn MHOTOYWIEHOB

Nwmsa:
54x% — 6x — 28
Ox—17
6x+ 4

48x3 — 622 + 61x— 63
6x— 17
8 —x+9

54x2 — 45x— 54
9%+ 6
6x—9

483 + 722 — 24x

&x
6x> + 9x — 3

2x3 — 332 —57x+ 18
Tx—2
6> — 3x—9

Jara: Orenka:

48> + 324 — 24x

8x
6x° + 4x — 3

8x° + 36 — 24x

4x
2% + 9 — 6

32x2 + 24x— 8§

4x + 4
8x—2

24x3 — 882 +91x— 72

3x— &
8x° — 8x+9

64x> — 16x° + 8x

8> — 2x+ 1
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